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(3:1 {a) Explain scalar triple product and rotational behavior of
Scalar tripal product. [10]
{b){1} Explain Time dilation. [05]
(2) Explain reciprocal vector . [04]
OR
(:1{a) Explain Michalson-morle’s experiment with result
and conclusion. | [12]
(b)(1)Explain triple vector products of three vectors. . [05]
(2) If A=37 — 27+ 2k, B= 47~ + 3k, and [02]

C =20+2]- 2k thenFind A X (BxC) and
B(Ax ().
Q.2 (a) Explain compound pendulum and with the help of [a2]
parallel axes theorem derive and equation for
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{1} {1} Write snortnote: Polssion’s Ratio, [04]

(2} Length of the wire is 2.5m, diameter and Young Modulus
are 0.9wm. and 30 10'! dyne/cm? respectively, If bKg
weight attached with one end of the wire, find out the
extension value of the length. 03]
3.2 {2) Obtain the equation of couple required to produce unit
twist in wire. 113]
(b) Define lissajous figure. If periodic timeis 1:1 and
amplitudes are 3cm. and Scm. respectively.Draw lissajous
figures for different phase like, 0, ”/4 ) 7?/6 , [06]

0:3{a) Explain principle, construction and working process of
Michelson Interferometer and explain the types of [15]
fringes obtained by it

(b) Explain construction of Nicol prism. [04]
OR
73:3 (@) Bxplain the formation of Newton's ring and obtain the [12]
equation of ring diameter and wavelength of Incident light,

(b) (1} Explain double refractior, [04]
(2) In Newton’s ring experiment, the diameters of the :
4% and 12" dark rings are 0.400cm. and
0.700cm. respectively, Find the diameter of the 20"

dark ring. 102]

(:4(a) For kelvin’s thermodynemical scale prove that, | %:;?— [10]

2 2
(b} Write and prove the Principle of Entropy [08]
OR

Q:4(a) Derive Mexwell's thermodynemical equition. [12]
(b) Prove that, o ks [06]
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